Urinary System Review Questions:

1. The proximal convoluted tubule is 
A. lined with epithelial cells that lack microvilli.
B. the site of glucose and amino acid reabsorption.
C. permeable to water if ADH is present.
D. impermeable to water.
E. the site of water secretion.

2. Arrange the following in correct order. 
(1) cotransport molecule binds to sodium and glucose
(2) establish sodium concentration gradient between tubular cells and tubular lumen
(3) sodium and glucose moved into tubular cell
(4) active transport of sodium from tubular cells to interstitial area 
A. 2, 1, 3, 4
B. 4, 2, 1, 3
C. 1, 3, 4, 2
D. 2, 4, 1, 3
E. 1, 2, 3, 4

3. Which of the following ions are cotransported across the wall of the proximal convoluted tubule, distal convoluted tubule, and the ascending limb of the loop of Henle? 
A. sodium and bicarbonate
B. potassium and phosphate
C. sodium and chloride
D. bicarbonate and potassium
E. potassium and chloride

4. As ADH production declines, 
A. glomerular filtration increases.
B. potassium reabsorption increases.
C. reabsorption of water increases.
D. the urine volume increases.
E. the blood volume increases.

5. Urea is 
A. secreted into the filtrate by cells of the distal convoluted tubule.
B. diffuse out of the collecting ducts into the interstitial fluid of the medulla and then diffuse into the descending loop of Henle.
C. completely reabsorbed by the nephron.
D. actively transported into the filtrate by cells of the collecting duct.
E. None of these choices is correct.

 6. Tubular reabsorption and tubular secretion differ in that 
A. tubular secretion is a passive process; tubular reabsorption uses active transport.
B. tubular secretion moves materials from the filtrate into the blood; tubular reabsorption moves   materials from the blood into the filtrate.                                                                                  C. tubular reabsorption increases urine volume; tubular secretion decreases urine volume.
D. tubular reabsorption occurs in Bowman's capsule; tubular secretion occurs in the peritubular capillary.
E. None of the above
7. In which of the following locations is filtrate osmolality highest? 
A. end of proximal convoluted tubule
B. tip of the loop of Henle
C. end of distal convoluted tubule
D. beginning of distal convoluted tubule
E. descending loop of Henle
8. Starting from the collecting duct, indicate the order in which urea molecules move to 
maintain the medullary concentration gradient.
(1) ascending limb
(2) distal convoluted tubule
(3) interstitial fluid
(4) collecting duct
(5) descending limb 
A. 2, 5, 1, 4, 3
B. 1, 3, 5, 2, 4
C. 3, 5, 1, 2, 4
D. 4, 2, 1, 3, 5
E. 4, 3, 5, 1, 2
9. The filtrate that drips from the renal papillae into the calyces 
A. has a higher concentration of waste products (urea) than the original filtrate.
B. may have lost up to 65% of its original volume.
C. is not yet urine.
D. has the same osmolality than the original filtrate.
E. None of these choices is correct.
10. Put the following in the correct order after the blood pressure increases. 
(1) decreased sympathetic stimulation
(2) increase in glomerulus filtration rate
(3) increase in arterial blood pressure
(4) increase in urine production
(5) afferent arterioles dilate 
A. 1, 3, 5, 2, 4
B. 3, 2, 1, 5, 4
C. 2, 3, 5, 1, 4
D. 3, 1, 5, 2, 4
E. 3, 2, 5, 4, 1
11. If the tubular maximum for a particular amino acid is 200 mg/100 ml and the concentration of that amino acid in the blood is 100 mg/100 ml, the amino acid 
A. will be actively secreted into the filtrate.
B. will be completely reabsorbed by the tubule cells.
C. will appear in the urine.
D. will not appear in the urine.
E. None of these choices is correct.

Review Answers:
1. B
2. B
3. C
4. D
5. B
6. E
7. B
8. E
9. A
10. D
11. B
